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4. tbtpay;  
1 kjpg;ngz; tpdhf;fs; 

1.   
𝐴𝐵

𝐷𝐸
=

𝐵𝐶

𝐹𝐷
  vdpy;> 𝐴𝐵𝐶 kw;Wk; 𝐸𝐷𝐹 vg;nghOJ tbnthj;jitahf mikAk;. 

 (m) ∠𝐵 = ∠𝐸  (M) ∠𝐴 = ∠𝐷  (,)  ∠𝑩 = ∠𝑫  (<) ∠𝐴 = ∠𝐹 

2.  ∆𝐿𝑀𝑁-apy;  ∠𝐿 = 60°,   ∠𝑀 = 50° NkYk;> ∆𝐿𝑀𝑁~∆𝑃𝑄𝑅 vdpy;> ∠𝑅-apd; kjpg;G  

 (m) 40°    (M)  𝟕𝟎°  (,) 30°   (<) 110°  

3. ,Urkgf;f Kf;Nfhzk; ∆𝐴𝐵𝐶-apy; ∠𝐶 = 90° kw;Wk; 𝐴𝐶 = 5 nr.kP> vdpy; 𝐴𝐵 MdJ  

 (m) 2.5 nr.kP   (M) 5 nr.kP  (,) 10 nr.kP  (<)  𝟓√𝟐 nr.kP 

4.  nfhLf;fg;gl;l glj;jpy; 𝑆𝑇 ∥ 𝑄𝑅, 𝑃𝑆 = 2 nr.kP kw;Wk; 𝑆𝑄 = 3 nr.kP. 
vdpy;> ∆𝑃𝑄𝑅-apd; gug;gsTf;Fk; ∆𝑃𝑆𝑇-apd; gug;gsTf;Fk; cs;s tpfpjk;  

 (m) 𝟐𝟓 ∶ 𝟒      (M) 25 ∶ 7   

 (,) 25 ∶ 11     (<) 25 ∶ 13 

5.  ,U tbnthj;j Kf;Nfhzq;fs; ∆𝐴𝐵𝐶 kw;Wk; ∆𝑃𝑄𝑅-apd; Rw;wsTfs; KiwNa 36 nr.kP kw;Wk; 
24 nr.kP MFk;. 𝑃𝑄 = 10 nr.kP vdpy;> 𝐴𝐵-apd; ePsk;  

 (m) 6
2

3
 nr.kP  (M) 

10√6

3
 nr.kP (,) 66

2

3
 nr.kP  (<) 𝟏𝟓 nr.kP 

6.  ∆𝐴𝐵𝐶-apy; 𝐷𝐸 ∥ 𝐵𝐶.  𝐴𝐵 = 3.6 nr.kP 𝐴𝐶 = 2.4 nr.kP  kw;Wk; 𝐴𝐷 = 2.1 nr.kP vdpy;> 𝐴𝐸 –apd; ePsk;  

 (m) 𝟏. 𝟒 nr.kP     (M) 1.8 nr.kP   

      (,) 1.3 nr.kP     (<) 1.05 nr.kP 

7.  ∆ 𝐴𝐵𝐶 -apy; 𝐴𝐷  MdJ> ∠𝐵𝐴𝐶 -apd; ,Urkntl;b. 𝐴𝐵 = 8 nr.kP> 𝐵𝐷 = 6  nr.kP kw;Wk;         
𝐷𝐶 = 3 nr.kP vdpy;> gf;fk; 𝐴𝐶 -apd; ePsk;  

 (m) 6 nr.kP  (M) 𝟒 nr.kP  (,) 3 nr.kP  (<) 8 nr.kP 

8.  nfhLf;fg;gl;l glj;jpy; ∠𝐵𝐶𝐴 = 90° kw;Wk; 𝐴𝐷 ⊥ 𝐵𝐶 vdpy;> 

 (m) 𝐵𝐷 ⋅ 𝐶𝐷 = 𝐵𝐶2    (M) 𝐴𝐵 ⋅ 𝐴𝐶 = 𝐵𝐶2  

 (,) 𝑩𝑫 ⋅ 𝑪𝑫 = 𝑨𝑫𝟐                                           (<) 𝐴𝐵 ⋅ 𝐴𝐶 = 𝐴𝐷2 

9.  6 kP kw;Wk; 11 kP cauKs;s ,U fk;gq;fs; rkjsj; jiuapy; nrq;Fj;jhf cs;sd. mtw;wpd; mbfSf;F 
,ilNaAs;s njhiyT 12 kP vdpy; mtw;wpd; cr;rpfSf;F ,ilNa cs;s njhiyT vd;d?  

 (m) 𝟏𝟑 kP   (M) 14 kP  (,) 15 kP   (<) 12.8 kP 

10. nfhLf;fg;gl;l glj;jpy;> 𝑃𝑅 = 26 nr.kP>  𝑄 = 24 nr.kP>   ∠𝑃𝐴𝑄 = 90°, 𝑃𝐴 = 6 nr.kP  

   kw;Wk; 𝑄𝐴 = 8 nr.kP vdpy; ∠𝑃𝑄𝑅 -If; fhz;f.   

 (m) 80°   (M) 85°                  (,) 75°            (<) 𝟗𝟎° 

11. tl;lj;jpd; njhLNfhLk; mjd; MuKk; nrq;Fj;jhf mikAk; ,lk;  

 (m) ikak;            (M) njhL Gs;sp   (,) Kbtpyp            (<) ehz;  

12. tl;lj;jpd; ntspg;Gwg; Gs;spapypUe;J tl;lj;jpw;F vj;jid njhLNfhLfs; tiuayhk;?  

 (m) xd;W  (M) ,uz;L       (,) Kbtw;w vz;zpf;if        (<) G+[;[pak;  

SEP-21,PTA-2 

PTA-1 

PTA-2 
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13. 𝑂 -it ikakhf cila tl;lj;jpw;F> ntspNaAs;s Gs;sp 𝑃 -apypUe;J tiuag;gl;l 

njhLNfhLfs; 𝑃𝐴 kw;Wk; 𝑃𝐵 MFk;. ∠𝐴𝑃𝐵 = 70° vdpy;> ∠𝐴𝑂𝐵-apd; kjpg;G  

 (m) 100°   (M) 𝟏𝟏𝟎°  (,) 120°  (<) 130° 

14. glj;jpy; 𝑂 -it ikakhf cila tl;lj;jpd; njhLNfhLfs;          

𝐶𝑃  kw;Wk; 𝐶𝑄  MFk;. 𝐴𝑅𝐵  MdJ tl;lj;jpd; kPJs;s Gs;sp 𝑅 

topahfr; nry;Yk; kw;nwhU njhLNfhL MFk;. 𝐶𝑃 = 11 nr.kP kw;Wk;              

𝐵𝐶 = 7 nr.kP vdpy; 𝐵𝑅-apd; ePsk;  

 (m) 6 nr.kP    (M) 5 nr.kP  

 (,) 8 nr.kP       (<) 𝟒 nr.kP 

15. glj;jpy; cs;sthW 𝑂-it ikakhff; nfhz;l tl;lj;jpd; 

njhLNfhL 𝑃𝑅 vdpy;> ∠𝑃𝑂𝑄 MdJ  

 (m) 𝟏𝟐𝟎°     (M) 100°  

(,) 110°     (<) 90° 

 

2 kjpg;ngz; tpdhf;fs; 
 

1. ∆𝑨𝑩𝑪 apd; gf;fq;fs; 𝑨𝑩 kw;Wk; 𝑨𝑪 -apd; kPJs;s Gs;spfs; KiwNa 𝑫 kw;Wk; 𝑬 MdJ 
𝑫𝑬||𝑩𝑪 vd;wthW mike;Js;sJ.    

  (i)   
𝑨𝑫

𝑫𝑩
=

𝟑

𝟒
 kw;Wk; 𝑨𝑪 = 𝟏𝟓 nr.kP vdy; 𝑨𝑬 -apd; kjpg;G fhz;f.    

(i)   Njy;]; Njw;wj;jpd;gb, 

                              
𝐴𝐷

𝐷𝐵
=

𝐴𝐸

𝐸𝐶
                  

  𝐸𝐶 = 𝑥  , 𝐴𝐸 = 15 − 𝑥 

              
3

4
=

15−𝑥

𝑥
  

           3𝑥 = 60 − 4𝑥  

 3𝑥 + 4𝑥 = 60 

            7𝑥 = 60 

             𝑥 =
60

7
 

             𝑥 = 8.57 

        𝐴𝐸 = 15 − 8.57 

 𝑨𝑬 = 𝟔. 𝟒𝟑 nr.kP 

MDL 

SEP-20 

SEP-21 
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ii)   𝑨𝑫 = 𝟖𝒙 − 𝟕, 𝑫𝑩 = 𝟓𝒙 − 𝟑, 𝑨𝑬 = 𝟒𝒙 − 𝟑 kw;Wk; 𝑬𝑪 = 𝟑𝒙 − 𝟏 vdpy;> 𝒙 -d; kjpg;G fhz;f. 

Njy;]; Njw;wj;jpd;gb,    
𝐴𝐷

𝐷𝐵
=

𝐴𝐸

𝐸𝐶
  

                           
8𝑥−7

5𝑥−3
=

4𝑥−3

3𝑥−1
  

  (8𝑥 − 7)(3𝑥 − 1) = (4𝑥 − 3)(5𝑥 − 3) 

24𝑥2 − 8𝑥 − 21𝑥 + 7  = 20𝑥2 − 12𝑥 − 15𝑥 + 9 

                 4𝑥2 − 2𝑥 − 2 = 0 

÷ 2 ⇒       2𝑥2 − 𝑥 − 1 = 0 

             (𝑥 − 1)(2𝑥 + 1) = 0 

𝑥 = 1  (or) 𝑥 = −
1

2
 

                       𝒙 = 𝟏 

mjhtJ>  𝑥 ≠ −
1

2
 

 

2. 𝑨𝑩𝑪𝑫  vd;w xU ruptfj;jpy; 𝑨𝑩||𝑫𝑪 kw;Wk; 𝑷, 𝑸 vd;gd KiwNa gf;fq;fs; 𝑨𝑫 kw;Wk;        
𝑩𝑪 -apd; kPJ mike;Js;s Gs;spfs; MFk;. NkYk; 𝑷𝑸||𝑫𝑪 𝑷𝑫 = 𝟏𝟖 nr.kP, 𝑩𝑸 = 𝟑𝟓nr.kP kw;Wk; 
𝑸𝑪 = 𝟏𝟓 nr.kP,  vdpy;> 𝑨𝑫 fhz;f.  

𝐴𝐵𝐶𝐷 vd;w xU ruptfj;jpy; 𝐴𝐵||𝐷𝐶 

𝐴𝐶I ,izf;f mJ  𝑃𝑄 it 𝑅 y; re;jpf;fpwJ. 

∆𝐴𝐶𝐷 y;, 𝑃𝑅 ∥ 𝐶𝐷 

Njy;]; Njw;wg;gb, 
𝐴𝑃

𝑃𝐷
=

𝐴𝑅

𝑅𝐶
 

 

𝑥

18
=

𝐴𝑅

𝑅𝐶
 ………(1) 

∆𝐴𝐵𝐶 y;;,  

           𝑅𝑄 ∥ 𝐴𝐵 

Njy;]; Njw;wg;gb, 

 
𝐵𝑄

𝑄𝐶
=

𝐴𝑅

𝑅𝐶
 

 
35

15
=

𝐴𝑅

𝑅𝐶
  

  
7

3
=

𝐴𝑅

𝑅𝐶
 ……….(2) 

(1) kw;Wk; (2) ypUe;J  

    
𝑥

18
=

7

3
 

  3𝑥 = 126  

     𝑥 =
126

3
= 42  

 𝐴𝑃 = 𝑥 vdpy;> 

𝐴𝑃 = 42  

 𝐴𝐷 = 𝐴𝑃 + 𝑃𝐷 

         = 42 + 18   

         = 𝟔𝟎 nr.kP  

JUL - 22 
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 3.  gpd;tUtdtw;Ws; ∆𝑨𝑩𝑪 -apy; 𝑨𝑫 MdJ ∠𝑨 apd; ,Urkntl;b MFkh vdr; Nrhjpf;fTk;.   

(i)  𝑨𝑩 = 𝟓 nr.kP, 𝑨𝑪 = 𝟏𝟎 nr.kP, 𝑩𝑫 = 𝟏. 𝟓 nr.kP kw;Wk; 𝑪𝑫 = 𝟑. 𝟓 nr.kP 

  nfhLf;fg;gl;l ∆𝐴𝐵𝐶 y;>                        

              
𝐴𝐵

𝐴𝐶
=

5

10
=

1

2
………………… (1) 

𝐵𝐷

𝐷𝐶
=

1.5

3.5
=

15

35
=

3

7
 ……………… (2)  

(1) & (2) ⇒
𝐴𝐵

𝐴𝐶
≠

𝐵𝐷

𝐷𝐶
 

                      ∴ 𝑨𝑫 MdJ ∠𝑨 apd; ,Urkntl;b ,y;iy.  

           

         (ii)  𝑨𝑩 = 𝟒 nr.kP, 𝑨𝑪 = 𝟔 nr.kP, 𝑩𝑫 = 𝟏. 𝟔 nr.kP  kw;Wk; 𝑪𝑫 = 𝟐. 𝟒nr.kP 

 
𝐴𝐵

𝐴𝐶
=

4

6
 

 
𝐴𝐵

𝐴𝐶
=

2

3
…………… (1) 

 
𝐵𝐷

𝐶𝐷
=

1.6

2.4
 

 
𝐵𝐷

𝐶𝐷
=

16

24
 

 
𝐵𝐷

𝐶𝐷
=

2

3
…………… (2) 

               (1)& (2) 
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
 

                      ∴ 𝑨𝑫 MdJ ∠𝑨 apd; ,Urkntl;b MFk;. 
 

 4.  xU kdpjd; 18 kP fpof;Nf nrd;W gpd;du; 24kP tlf;Nf nry;fpwhd;. njhlf;f epiyapypUe;J   
    mtu; ,Uf;Fk; njhiyitf; fhz;f.  

           nfhLf;fg;gl;lJ   

                   𝐵𝐶 = 18 kP,  

                   𝐵𝐴 = 24  kP 

 gpjhfu]; Njw;wg;gb,   

  𝐴𝐶2 = 𝐴𝐵2 + 𝐵𝐶2  

           = 242 + 182  

           = 576 + 324 

            = 900 

            = 302 

              𝑨𝑪 = 𝟑𝟎 kP   

SEP-20 

JUL-22 
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5 kjpg;ngz; tpdhf;fs; 

1. Njw;wk; 1: mbg;gil tpfpjr;rk Njw;wk; my;yJ Njy;]; Njw;wk;   

$w;W : xU Neu;NfhL Kf;Nfhzj;jpd; xU gf;fj;jpw;F ,izahfTk; kw;w ,U 
gf;fq;fis ntl;LkhWk; tiuag;gl;lhy; mf;NfhL mt;tpuz;L gf;fq;fisAk; 
rk tpfpjj;jpy; gpupf;fpwJ. 

ep&gzk;: 

nfhLf;fg;gl;lit :  

         ∆𝐴𝐵𝐶 -apy; 𝐴𝐵 -apd; NkYs;s Gs;sp 𝐷, 𝐴𝐶 -apd; Nky;  
        cs;s Gs;sp 𝐸 MFk;. 

ep&gpf;f:  
𝐴𝐷

𝐷𝐵
=

𝐴𝐸

𝐸𝐶
 

mikg;G: 𝐷𝐸 ∥ 𝐵𝐶 tiuf. 

vz; $w;W  fhuzk; 

1. ∠𝐴𝐵𝐶 = ∠𝐴𝐷𝐸 = ∠1 xj;j Nfhzq;fs; rkk;. Vnddpy; 𝐷𝐸 ∥ 𝐵𝐶 

2. ∠𝐴𝐶𝐵 = ∠𝐴𝐸𝐷 = ∠2 xj;j Nfhzq;fs; rkk;. Vnddpy;  𝐷𝐸 ∥ 𝐵𝐶 

3. ∠𝐷𝐴𝐸 = ∠𝐵𝐴𝐶 = ∠3 ,U Kf;Nfhzq;fSk; xU nghJthd Nfhzj;ijf; nfhz;Ls;sJ. 

4.  ∆𝐴𝐵𝐶 ∽ ∆𝐴𝐷𝐸 𝐴𝐴𝐴 tpjpKiwg;gb 

 
𝐴𝐵

𝐴𝐷
=

𝐴𝐶

𝐴𝐸
  xj;j gf;fq;fs; tpfpjr;rkk;. 

 
𝐴𝐷+𝐷𝐵

𝐴𝐷
=

𝐴𝐸+𝐸𝐶

𝐴𝐸
 𝐷 kw;Wk; 𝐸 -Ig; gad;gLj;jp 𝐴𝐵kw;Wk; 𝐴𝐶-I gpupj;jy;.   

 1 +
𝐷𝐵

𝐴𝐷
= 1 +

𝐸𝐶

𝐴𝐸
 RUf;Fjy; 

 
𝐷𝐵

𝐴𝐷
=

𝐸𝐶

𝐴𝐸
 ,U gf;fq;fspYk; 1-I ePf;Ff. 

 
𝐴𝐷

𝐷𝐵
=

𝐴𝐸

𝐸𝐶
 jiyfPohf khw;Wf 

Njw;wk; ep&gpf;fg;gl;lJ 

 

fpisj;Njw;wk;:  

∆𝐴𝐵𝐶 -apy; 𝐵𝐶-f;F ,izahd Neu;f;NfhL 𝐷𝐸 -ahdJ> 𝐴𝐵-I 𝐷-apYk;> 𝐴𝐶-I 𝐸-apYk; ntl;bdhy; 

(i)   
𝐴𝐵

𝐴𝐷
=

𝐴𝐶

𝐴𝐸
            (ii)   

𝐴𝐵

𝐷𝐵
=

𝐴𝐶

𝐸𝐶
 

MAY-22 
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2. Njw;wk; 3: Nfhz ,Urkntl;b Njw;wk; 

$w;W : xU Kf;Nfhzj;jpd; xU Nfhzj;jpd; cl;Gw ,U rkntl;bahdJ mf;Nfhzj;jpd; vjpu; gf;fj;ij 

cl;Gwkhf mf;Nfhzj;jpid mlf;fpa gf;fq;fspd; tpfpjj;jpy; gpupf;Fk;.   

ep&gzk;: 

nfhLf;fg;gl;lit :  

        ∆𝐴𝐵𝐶-apy; 𝐴𝐷 ahdJ ∠𝐴-apd; cl;Gw ,Urkntl;b 

ep&gpf;f:  

             
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
 

mikg;G:  

   𝐴𝐵-f;F ,izahf 𝐶 topahf xU ,izf;NfhL tiuf. 𝐴𝐷-apd; ePl;rpahdJ 𝐶 topahf     

   nry;Yk; Nfhl;bid 𝐸-apy; re;jpf;fpwJ. 

 

 

 

 

 

 

 

vz; $w;W fhuzk; 

1.  ∠𝐴𝐸𝐶 = ∠𝐵𝐴𝐸 = ∠1 xU FWf;Fntl;bahdJ ,uz;L ,izNfhLfis ntl;Ltjhy; 

Vw;gLk; xd;Wtpl;l Nfhzq;fs; rkk;. 

2. ∆𝐴𝐶𝐸  vd;gJ ,U 

rkgf;f Kf;Nfhzk; 

 𝐴𝐶 = 𝐶𝐸 …… (1) 

 ∆𝐴𝐶𝐸-apy;  ∠𝐶𝐴𝐸 = ∆𝐶𝐸𝐴 

3.  ∆𝐴𝐵𝐷 ∽ ∆𝐸𝐶𝐷 

 
𝐴𝐵

𝐶𝐸
=

𝐵𝐷

𝐶𝐷
 

 𝐴𝐴 tpjpKiwg;gb 

4.  
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
  (1) -ypUe;J>  𝐴𝐶 = 𝐶𝐸  

Njw;wk; ep&gpf;fg;gl;lJ 

PTA - 6 
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3 . Njw;wk; 4: Nfhz ,Urkntl;b Njw;wj;jpd; kWjiy  

$w;W: xU Kf;Nfhzj;jpd; xU KidapypUe;J nry;Yk; xU Neu;NfhL> 
mjd; vjpu; gf;fj;jpid cl;Gwkhf khw;w ,U gf;fq;fspd; tpfpjj;jpy; 
gpupf;Fkhdhy;> mf;NfhL mike;j Kidf; Nfhzj;jpid cl;Gwkhf ,U 
rkkhfg; gpupf;Fk;. 

ep&gzk;:  

nfhLf;fg;gl;lJ:  

       𝐴𝐵𝐶 vd;gJ xU Kf;Nfhzk;. 𝐴𝐷 MdJ gf;fk; 𝐵𝐶-ia 𝐷 vd;w 
Gs;spapy; Nfhzk; ∠𝐴-ia cs;slf;fpa gf;fq;fspd; tpfpjj;jpy; 

gpupf;fpwJ. mjhtJ  
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐷𝐶
 ……… (1) 

ep&gpf;f:  

       ∠𝐴-apd; cl;Gw ,Urkntl;b 𝐴𝐷. mjhtJ ∠1 = ∠2 

mikg;G:  

       𝐶𝐸 ∥ 𝐷𝐴 tiuf. 𝐵𝐴-apd; ePl;rp 𝐸-apy; re;jpf;fpwJ. 

vz; $w;W fhuzk; 

1.  ∠𝐵𝐴𝐷 = ∠1 kw;Wk; 

 ∠𝐷𝐴𝐶 = ∠2 vd;f 

mDkhdk;  

2.  ∠𝐵𝐴𝐷 = ∠𝐴𝐸𝐶 = ∠1  𝐷𝐴 ∥ 𝐶𝐸 xj;jNfhzq;fs; rkk;. 

3.  ∠𝐷𝐴𝐶 = ∠𝐴𝐶𝐸 = ∠2 𝐷𝐴 ∥ 𝐶𝐸  kw;Wk; 𝐴𝐶  MdJ FWf;Fntl;b. 
Mifapdhy;> xd;Wtpl;l Nfhzq;fs; rkk;. 

4.  
𝐵𝐴

𝐴𝐸
=

𝐵𝐷

𝐷𝐶
 ……….. (2) ∆𝐵𝐶𝐸 Njy;]; Njw;wj;jpd;gb 

5.  
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐷𝐶
 (1)-ypUe;J 

6.   
𝐴𝐵

𝐴𝐶
=

𝐵𝐴

𝐴𝐸
 (1) kw;Wk; (2)-ypUe;J> 

7. 𝐴𝐶 = 𝐴𝐸……….(3) 𝐴𝐵-I ePf;f. 

8.  ∠1 = ∠2  (3)-ypUe;J ∆𝐴𝐶𝐸 Xu; ,U rkgf;f Kf;Nfhzk;.   

9. ∠𝐴 -apd; cl;Gw ,Urkntl;b 𝐴𝐷  ∠1 = ∠𝐵𝐴𝐷 = ∠2 = ∠𝐷𝐴𝐶 vd;gjhy;>  

Njw;wk; ep&gpf;fg;gl;lJ. 

PTA-3,4 
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4. Njw;wk; 5: gpjhfu]; Njw;wk;  

$w;W: xU nrq;Nfhz Kf;Nfhzj;jpy; fu;zj;jpd; tu;f;fk;     
      kw;w ,U gf;fq;fspd; tu;f;fq;fspd; $LjYf;Fr; rkk;.  

ep&gzk;: 

nfhLf;fg;gl;lJ: ∆𝐴𝐵𝐶-apy;  ∠𝐴 = 90° 

ep&gpf;f: 𝐴𝐵2 + 𝐴𝐶2 = 𝐵𝐶2   mikg;G: 𝐴𝐷 ⊥ 𝐵𝐶 tiuf. 

vz; $w;W fhuzk; 

1. 

 

∆𝐴𝐵𝐶 kw;Wk; ∆𝐷𝐵𝐴-I xg;gpLf. 

∠𝐵 nghJthdJ>  ∠𝐵𝐴𝐶 = ∠𝐵𝐷𝐴 = 90° 

 ∠𝐵𝐴𝐶 = 90° nfhLf;fg;gl;lJ kw;Wk; 

∠𝐵𝐷𝐴 = 90° mikg;gpypUe;J 

 vdNt>  ∆𝐴𝐵𝐶 ∽ ∆𝐷𝐵𝐴, 
𝐴𝐵

𝐵𝐷
=

𝐵𝐶

𝐴𝐵
 

𝐴𝐵2 = 𝐵𝐶 × 𝐵𝐷 …(1) 

 AA tpjpKiwg;gb 

2.  ∆𝐴𝐵𝐶 kw;Wk; ∆𝐷𝐴𝐶-I xg;gpLf. 

∠𝐶 nghJthdJ>  ∠𝐵𝐴𝐶 = ∠𝐴𝐷𝐶 = 90° 

 ∠𝐵𝐴𝐶 = 90° nfhLf;fg;gl;lJ kw;Wk; 

∠𝐴𝐷𝐶 = 90° mikg;gpypUe;J 

 vdNt> ∆𝐴𝐵𝐶 ∽ ∆𝐷𝐴𝐶>
𝐵𝐶

𝐴𝐶
=

𝐴𝐶

𝐷𝐶
  AA tpjpKiwg;gb 

               𝐴𝐶2 = 𝐵𝐶 × 𝐷𝐶 … (2)  

 (1) kw;Wk; (2) -If; $l;l ehk; ngWtJ>   

𝐴𝐵2 + 𝐴𝐶2 = (𝐵𝐶 × 𝐵𝐷) + (𝐵𝐶 × 𝐷𝐶) = 𝐵𝐶 × (𝐵𝐷 + 𝐷𝐶) = 𝐵𝐶 × 𝐵𝐶 

𝐴𝐵2 + 𝐴𝐶2 = 𝐵𝐶2,   Njw;wk; ep&gpf;fg;gl;lJ. 

gpjhfu]; Njw;wj;jpd; kWjiy: 

$w;W: xU Kf;Nfhzj;jpy; ePskhd gf;fj;jpd; tu;f;fk; kw;w ,U gf;fq;fspd; tu;f;fq;fspd;     
         $LjYf;Fr; rkk; vdpy;> me;j Kf;Nfhzk; nrq;Nfhz Kf;Nfhzk; MFk;.  

 

5.     𝑸𝑹 I mbg;gf;fkhff; nfhz;l ,U Kf;Nfhzq;fs; 𝑸𝑷𝑹 kw;Wk; 𝑸𝑺𝑹 –apd; Gs;spfs; 𝑷 kw;Wk; 
𝑺 –apy; nrq;Nfhzq;fshf mike;Js;sd. ,U Kf;Nfhzq;fSk; 𝑸𝑹 –apd; xNu gf;fj;jpy; 
mike;Js;sd. 𝑷𝑹  kw;Wk; 𝑺𝑸  vd;w gf;fq;fs; 𝑻  vd;w Gs;spapy; re;jpf;fpd;wd vdpy;>         

𝑷𝑻 × 𝑻𝑹 = 𝑺𝑻 × 𝑻𝑸 vd epWTf.    

 ∆𝑃𝑄𝑅 kw;Wk; ∆𝑆𝑄𝑅 

∠𝑃 = ∠𝑆 = 90° kw;Wk;  ∆𝑆𝑄𝑅  

∠𝑃 = ∠𝑆 = 90° 

 ∠𝑃𝑇𝑄 = ∠𝑆𝑇𝑅 (Fj;njjph; Nfhzq;fs;) 

vdNt> tbnthj;jikf;fhd> 𝐴𝐴 tpjpKiwg;gb> ∆𝑃𝑇𝑄~∆𝑆𝑇𝑅 

𝑃𝑇

𝑆𝑇
=

𝑇𝑄

𝑇𝑅
 

                                             𝑷𝑻 × 𝑻𝑹 = 𝑻𝑸 × 𝑺𝑻  

 

PTA-6 
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6. 6 kP kw;Wk; 3 kP cauKs;s ,uz;L nrq;Fj;jhd J}z;fs; 𝑨𝑪 vd;w jiuapd; Nky; glj;jpy; 
fhl;bAs;sthW Cd;wg;gl;Ls;sJ vdpy;> 𝒚 -apd; kjpg;G fhz;f.  

∆𝑃𝐴𝐶, ∆𝑄𝐵𝐶 Mfpait 
tbnthj;j Kf;Nfhzq;fs;  

 
𝑃𝐴

𝑄𝐵
=

𝐴𝐶

𝐵𝐶
=

𝑃𝑄

𝑄𝐶
 

           
6

𝑦
=

𝐴𝐶

𝐵𝐶
 

 𝑦(𝐴𝐶) = 6𝐵𝐶…… (1) 

∆𝐴𝐶𝑅 kw;Wk; ∆𝐴𝐵𝑄 Mfpait 
tbnthj;j Kf;Nfhzq;fs;  

        
𝐶𝑅

𝑄𝐵
=

𝐴𝐶

𝐴𝐵
 

          
3

𝑦
=

𝐴𝐶

𝐴𝐵
  

3(𝐴𝐵) = (𝐴𝐶)𝑦……………. (2) 

(1) & (2) ⇒ 3𝐴𝐵 = 6𝐵𝐶 

 
𝐴𝐵

𝐵𝐶
=

6

3
= 2 

𝐴𝐵 = 2𝐵𝐶 

𝐴𝐶 = 𝐴𝐵 + 𝐵𝐶 

𝐴𝐶 = 2𝐵𝐶 + 𝐵𝐶 (𝐴𝐵 = 2𝐵𝐶) 

𝐴𝐶 = 3𝐵𝐶 

𝐴𝐶 = 3𝐵𝐶  vd (1) y; gpujpapl 

(3𝐵𝐶)𝑦 = 6𝐵𝐶 

            𝑦 =
6𝐵𝐶

3𝐵𝐶
 

                           𝒚 = 𝟐 kP 

 

7. glj;jpy; ∠𝑸𝑷𝑹 = 𝟗𝟎°, PS MdJ ∠𝑷  -apd; ,Urkntl;b NkYk;> 𝑺𝑻 ⊥ 𝑷𝑹,  vdpy;>                
𝑺𝑻 × (𝑷𝑸 + 𝑷𝑹) = 𝑷𝑸 × 𝑷𝑹 vd epWTf.  

glj;jpypUe;J ∠𝑄𝑃𝑅 = 90°,   

PS MdJ ,Urkntl;b kw;Wk;  𝑆𝑇 ⊥ 𝑃𝑅  

        
𝑃𝑄

𝑃𝑅
=

𝑄𝑆

𝑆𝑅
                     Nfhz ,Urkntl;b Njw;wg;gb> 

𝑃𝑄

𝑃𝑅
+ 1 =

𝑄𝑆

𝑆𝑅
+ 1          ,UGwKk; 1If; $l;l 

 
𝑃𝑄+𝑃𝑅

𝑃𝑅
=

𝑄𝑆+𝑆𝑅

𝑆𝑅
  

 
𝑃𝑄+𝑃𝑅

𝑃𝑅
=

𝑄𝑅

𝑆𝑅
………….. (1) 

∆𝑃𝑄𝑅 kw;Wk; ∆𝑆𝑇𝑅 y;>   

  ∠𝑄𝑃𝑅 = 900, ∠𝑆𝑇𝑅 = 900 

  ∠𝑃𝑅𝑆 = ∠𝑇𝑅𝑆 = ∠𝑅 MdJ nghJ ,              

 AA tpjpKiwg;gb> 

 
𝑃𝑄

𝑆𝑇
=

𝑄𝑅

𝑆𝑅
=

𝑃𝑅

𝑇𝑅
 ……………..(2) 

 (1) & (2) ⇒
𝑃𝑄+𝑃𝑅

𝑃𝑅
=

𝑃𝑄

𝑆𝑇
 

   𝑺𝑻 (𝑷𝑸 + 𝑷𝑹) = 𝑷𝑸 × 𝑷𝑹.  ep&gpf;fg;gl;lJ. 

 

PTA-5 

PTA-2 
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 8.  xU nrq;Nfhz Kf;Nfhzj;jpd; fu;zk; rpwpa gf;fj;jpd; 2 klq;if tpl 6 kP mjpfk;. NkYk;     
   %d;whtJ gf;fkhdJ fu;zj;ij tpl 2 kP FiwT vdpy;> Kf;Nfhzj;jpd; gf;fq;fisf; fhz;f 

∆𝐴𝐵𝐶 y; ; ∠𝐵 = 90° 

𝐴𝐵 = 𝑥 ⇒ 𝐴𝐶 = 2𝑥 + 6  kw;Wk; 𝐵𝐶 = 2𝑥 + 4 

                                  (2𝑥 + 6)2 = 𝑥2 + (2𝑥 + 4)2 

                     4𝑥2 + 36 + 24𝑥 = 𝑥2 + 4𝑥2 + 16𝑥 + 16 

𝑥2 + 16𝑥 − 24𝑥 + 16 − 36 = 0                                  

                          𝑥2 − 8𝑥 − 20 = 0 

                    (𝑥 − 10)(𝑥 + 2) = 0 

𝑥 = 10 (my;yJ) 𝑥 = −2   

 Mdhy; 𝑥 ≠ −2 

𝑥 = 10 vdpy;> 

 ⇒ 𝐴𝐶 = 2𝑥 + 6 = 20 + 6 = 26 

 ⇒ 𝐵𝐶 = 2𝑥 + 4 = 20 + 4 = 24 

∴ gf;fq;fs; 𝑨𝑩 = 𝟏𝟎 kP> 𝑩𝑪 = 𝟐𝟒 kP> 𝑨𝑪 = 𝟐𝟔 kP 

 

 9. ∆𝑷𝑸𝑹 -apy; mbg;gf;fk; 𝑸𝑹 -f;F nrq;Fj;jhf cs;s 𝑷𝑺 MdJ 𝑸𝑹 -I  𝑺 -apy; re;jpf;fpwJ. 

NkYk;> 𝑸𝑺 = 𝟑𝑺𝑹 vdpy;> 𝟐𝑷𝑸𝟐 = 𝟐𝑷𝑹𝟐 + 𝑸𝑹𝟐 vd epWTf. 

nfhLf;fg;gl;lJ : 

 ∆𝑃𝑄𝑅 -apy; mbg;gf;fk; 𝑄𝑅 -f;F nrq;Fj;jhf cs;s 𝑃𝑆 MdJ 𝑄𝑅 –I 𝑆-apy; re;jpf;fpwJ.  

NkYk;> 𝑆 = 3𝑆𝑅  

∆𝑃𝑄𝑆 y;  ⇒ 𝑃𝑄2 = 𝑃𝑆2 + 𝑄𝑆2 

∆𝑃𝑆𝑅 ⇒ 𝑃𝑅2 = 𝑃𝑆2 + 𝑆𝑅2 

            ⇒ 𝑃𝑆2 = 𝑃𝑅2 − 𝑆𝑅2 

  𝑄𝑅 = 𝑄𝑆 + 𝑆𝑅 

         = 3𝑆𝑅 + 𝑆𝑅 

 𝑄𝑅 = 4𝑆𝑅 

𝑄𝑅

4
= 𝑆𝑅  

𝑃𝑄2 = 𝑃𝑅2 − 𝑆𝑅2 + (3𝑆𝑅)2 

𝑃𝑄2 = 𝑃𝑅2 − 𝑆𝑅2 + 9𝑆𝑅2 

𝑃𝑄2 = 𝑃𝑅2 + 8𝑆𝑅2             

   [∵ 𝑆𝑅 =
𝑄𝑅

4
]   

 𝑃𝑄2 = 𝑃𝑅2 +
8𝑄𝑅2

16
 

          𝟐𝑷𝑸𝟐 = 𝟐𝑷𝑹𝟐 + 𝑸𝑹𝟐 

PTA-3 
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10. xU Kf;Nfhzj;jpd; Nfhz ,Urk ntl;bfs; xU Gs;spapd; topahfr; nry;Yk; vdf; fhl;Lf.  

 ∆𝐴𝐵𝐶 y; “𝑂”  vd;gJ VNjDk; xU Gs;sp  

∠𝐴𝑂𝐵, ∠𝐵𝑂𝐶  kw;Wk; ∠𝐴𝑂𝐶  Mfpatw;wpd; Nfhz ,Urkntl;bfs; 
𝐴𝐵, 𝐵𝐶 & 𝐶𝐴 gf;fq;fspy;  KiwNa 𝐷, 𝐸 & 𝐹 y; re;jpf;fpd;wd.  

∴ ∆𝐵𝑂𝐶 y; , 𝑂𝐷 MdJ ∠𝐵𝑂𝐶 d; ,U rktntl;b MFk;.  

∴
𝑂𝐵

𝑂𝐶
=

𝐵𝐷

𝐷𝐶
 ………………. (1) 

,Nj Nghy; 𝐴𝑂𝐶 & 𝐴𝑂𝐵  

𝑂𝐶

𝑂𝐴
=

𝐶𝐸

𝐴𝐸
 …………………….. (2)  

𝑂𝐴

𝑂𝐵
=

𝐴𝐹

𝐹𝐵
 ……………….. (3) 

  (1) × (2) × (3) ⇒ 

 
𝑂𝐵

𝑂𝐶
×

𝑂𝐶

𝑂𝐴
×

𝑂𝐴

𝑂𝐵
=

𝐵𝐷

𝐷𝐶
×

𝐶𝐸

𝐴𝐸
×

𝐴𝐹

𝐸𝐵
     

 
𝐵𝐷

𝐷𝐶
×

𝐶𝐸

𝐴𝐸
×

𝐴𝐹

𝐹𝐵
= 1 ……………… (4) 

 𝐴𝐷, 𝐵𝐸 & 𝐶𝐹 Mfpad  ∠𝐴, ∠𝐵 & ∠𝐶  Mfpatw;wpd; ,Urkntl;bfs; vdpy;> Nfhz ,Urkntl;b 

Njw;wj;jpd; gb    
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐷𝐶
;    

𝐵𝐶

𝐶𝐴
=

𝐴𝐹

𝐹𝐵
;    

𝐴𝐵

𝐵𝐶
=

𝐴𝐸

𝐸𝐶
  

                                    
𝐴𝐵

𝐴𝐶
×  

𝐵𝐶

𝐶𝐴
×

𝐴𝐵

𝐵𝐶
=

𝐵𝐷

𝐷𝐶
×

𝐴𝐹

𝐹𝐵
×

𝐴𝐸

𝐸𝐶
  

                                                       1 = 1        ((4) ypUe;J) 

           ∴ 𝑂 vd;gJ Nfhz ,Urkntl;bfs; re;jpf;Fk; Gs;spahFk;.  

     xU Kf;Nfhzj;jpd; Nfhz ,Urk ntl;bfs; xU Gs;spapd; topahfr; nry;Yk;. 

 

PTA-4 


